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Part One

The Parent Sin6 function:
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Parent Function: y = sinx
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, this graph is three times
y=3sinX  taller than the
Parent Function




Parent Function: y = sinx

X

= 2 sinx

this graph is twice as
tall as the
Parent Function

Parent Function: y = sinx

y = -3sinx

this graph is three times
----------------- taller than the
Parent Function

and Upside Down.

i Parent Function: y = sinx

058 \<\‘I\ this graph is half
20" gstall as the

0 t t i t 4 -
)
1 2 Bvx Parent Function
1T

y = asinx
a = Amplitude (Vertical Stretch Factor)

Can you have a negative Amplitude?
No, since amplitude is a distance, it can't be negative.

If a<0 then there is an x-axis reflection.
Upside down



Now Do Part 2 of the Exploration.

Remember:
distance between two points

FENog/= # cycles between those two points
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Period = Seycles= T

o
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y = Sin4x
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y = Sinx/2
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Find the amplitude and period for each Sine Function:
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The Parent Function:

y = sinbx
21
Period = —
b
y = Sinx
Period= 21
Amplitude= 1

Eq of Midline: y =0



y = asinbx

a = Amplitude

a<0 is an x-axis reflection (upside down)

b: —— Period = Tn

Sketch one period of the graph of
. (X g >
y=-53|n(7) = -Ssin(zX

Label the coordinates of all x-intercepts, minimums, and maximums.
ecwod = 2T =
? I = 77 C %._ - C//_/“

2.

Halfway between
21 and 41

2l c\,\\m‘. y,;o

N (5‘7,;0)\ ‘9‘__0
Amp//-%nde; = v

Max is 5 units above the midline S)
and Min is 5 units below the
midline.

Halfway between 0 and 21 Halfway between 0 and 41

Sketch one period of the graph of
y=3sin4x
Label the coordinates of all x-intercepts, minimums, and maximums.
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Am ‘9// Ffude = X g/ = 2
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and min is 3 units below - - J

midine. @ 7 s N T T & - === - - =0

O
halfway between 0 (o ) ) (I ;O> g
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